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Multipliser med potens på ti (manglende tall)

9٫635 × ________ = 96.35 5٫608 × ________ = 560.8

5٫882 × ________ = 58.82 8٫802 × ________ = 8802

7٫906 × ________ = 790.6 9٫048 × ________ = 9048

6٫709 × ________ = 670.9 2٫614 × ________ = 2614

6٫02 × ________ = 6020 4٫207 × ________ = 42.07

10٫946 × ________ = 10946 4٫626 × ________ = 4626

3٫319 × ________ = 33.19 5٫88 × ________ = 5880

9٫036 × ________ = 9036 6٫307 × ________ = 630.7

8٫394 × ________ = 8394 4٫708 × ________ = 4708

10٫042 × ________ = 10042 2٫207 × ________ = 220.7
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

9٫635 × 10 = 96.35 5٫608 × 100 = 560.8

5٫882 × 10 = 58.82 8٫802 × 1000 = 8802

7٫906 × 100 = 790.6 9٫048 × 1000 = 9048

6٫709 × 100 = 670.9 2٫614 × 1000 = 2614

6٫02 × 1000 = 6020 4٫207 × 10 = 42.07

10٫946 × 1000 = 10946 4٫626 × 1000 = 4626

3٫319 × 10 = 33.19 5٫88 × 1000 = 5880

9٫036 × 1000 = 9036 6٫307 × 100 = 630.7

8٫394 × 1000 = 8394 4٫708 × 1000 = 4708

10٫042 × 1000 = 10042 2٫207 × 100 = 220.7
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